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let push (n : int) (s : stack) : stack =
n:: s ;j;
let pop (s : stack) : int x stack =
match s with
| [1] — failwith "empty stack error in pop"
| h::s2 — (h,s2)
let is_empty (s : stack) : bool =
(s = 11) ii
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let (top, newstack) = pop oldstack in
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let rec run (stk : stack) (str : string) (i : int) : stack =

if 1 < String.length str then
match str.[i] with

| 0" — let newstk = push 0 stk in run newstk str (i+1)

| 71 =

[

| '+ — (x 0D0O0O0OO0OO0OO0O00D00 pop ODOOOOOOOODOD push OO

O00 newstk OO0O0O run newstk str (i+1) O00O00Ox)
[ S
| — failwith "illegal input" (x 8/3 000 16:02 %)

else stk ;;
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let eval (str : string) : int =

let stk = run [] str 0 in
match pop stk with
| (top, _) — top
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type formula =
| Atom of string (x example Atom("p"), Atom("ql23") %)
| Not of formula (x example Not (f1) [8/3; 000000000 17:23 %)
| And of formula * formula (¥ example And(fl, f2) x)
| Or of formula * formula (¥ example Or(fl, f£2) *)
\_ J/
O000OAtom("p") O0ODOU0DOOOOODD pOOO0ODOOOOOONot, And, Or 00000000 OOOO
OOo0oooooDoodO0formula000O0O00OO

let f1
let f2

And (Not (Atom ("p")),Or (Atom("g") ,Atom("p"))) ;;
Not (And (Not (Atom ("p")),Or (Atom ("g") ,Atom ("p")))) ;;
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let _ = List.assoc "p" [("p", true); ("g", false)] ;;

— : bool = true

let _ = List.assoc "gq" [("p", true); ("g", false)] ;;
— : bool = false
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let rec walk atoms aenv =
match atoms with
| [1 — laenv]
| h::t — (walk t ((h,true)::aenv)) @ (walk t ((h, false)::aenv))

let make_aenv (atoms : string list) =

walk atoms []

let _ = make_aenv ["p"; "q"1;;

— : (string * bool) list list =

[[("g", true); ("p", true)]; [("q", false); ("p", true)];
[("gq", true); ("p", false)]; [("gq", false); ("p", false)]]
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